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QUESTION 1

For a given set of test-cases, which of the following is a benefit of running these tests with a test automation tool? 

A. Test coverage is increased. 

B. The number of found bugs is reduced. 

C. The total cost of the test project always decreases 

D. The time spent on repetitive tasks is reduced 

Correct Answer: D 

 

QUESTION 2

What is the ideal number of regression test cycles? 

A. As many as time and budget allow 

B. 2 

C. 1 

D. Until the quality requirements are met 

Correct Answer: A 

 

QUESTION 3

You are testing an e-commerce system The system accepts four different types of Credit Cards; each card has its own
rules for valid and invalid numbers. The following is a portion of the Decision Table 

for Order Management.: 

The combination of the conditions Valid Card Number (NO) + Purchase Approved (YES) is not feasible. You wish to
perform a test which completely covers all the combinations of equivalence partitioning tor the different types of credit
card, according to the rules shown in the above Decision Table How many test cases do you need? 
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A. 8 

B. 4 

C. 16 

D. 12 

Correct Answer: C 

 

QUESTION 4

A software company adopts the V-model as their development life cycle. Which of the following contains roles of a tester
in this company? 

A. Decide what should be automated, to what degree, and how. 

B. Review test plans and set up test environments. 

C. Coordinate the test strategy with the project managers 

D. Introduce suitable metrics to measure the testing progress 

Correct Answer: B 

 

QUESTION 5

A garden irrigation system allows the user to specify 2 inputs: 

1.

 Frequency - The number of times the system should be automatically switched on per day; minimum once per day,
maximum 5 times 

2.

 Duration - The duration of operation, in whole minutes, each time it is switched on; ranging from 1 to 60 Applying
2-value boundary value analysis which of the following options has the correct test set of valid and invalid boundary
values? 

A. Frequency 1, 5; Duration 1, 60 

B. Frequency 0, 1, 5, 6; Duration 59 seconds, 1 minute, 60 minutes, 60 minutes 1 second 

C. Frequency 0, 1, 5, 6; Duration 0, 1, 30, 60, 61 

D. Frequency 0, 1, 2, 5, 6; Duration 0, 1, 30, 60, 61 

Correct Answer: B 

 

QUESTION 6
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Which of the following is a Black Box test design technique? 

A. Decision Coverage 

B. Error Guessing 

C. Statement Coverage 

D. Equivalence Partitioning 

Correct Answer: D 

 

QUESTION 7

Which of the following activities is appropriate to the test planning stage? 

A. Analysing the test basis 

B. Assigning resources for the planned activities 

C. Designing the test environments 

D. Writing a test execution schedule 

Correct Answer: B 

 

QUESTION 8

What is basic idea of structure-based testing techniques? 

A. To allow developers to have their own testing technique. 

B. To do better testing, since the specifications are not needed. 

C. The more details of the source code are executed, the more faults can be found. 

D. To gain time, since structure-based techniques are easier to implement than specification-based techniques. 

Correct Answer: C 

 

QUESTION 9

Which of the following options describe the causal chain in the correct sequence? 

A. Error, fault, failure 

B. Fault, bug, mistake 

C. Mistake, failure, fault 

D. Failure, bug, error 
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Correct Answer: A 

 

QUESTION 10

Which statement about Static Testing is TRUE? 

A. Static testing can be applied to any work product that participants know how to read and understand. 

B. Static testing must only be applied to final work products that have been signed off. 

C. Static testing must be conducted by users of the product being tested. 

D. Static testing executes the code to verify the functionality is as expected. 

Correct Answer: A 

 

QUESTION 11

Which of the following tools is most likely to detect defects in functions or methods in source code? 

A. unit test framework tool evelopers who are familiar with the system\\'s structure. 

B. configuration management tool 

C. test design tool 

D. monitoring tool 

Correct Answer: A 

 

QUESTION 12

System testing is: A. Used to search for defects in software modules that are separately testable. 

B. The responsibility of the users of a system. 

C. Concerned with the behavior of a whole system/product as defined by the scope of a development project. 

D. Triggered by modifications, migration or retirement of the software system. 

Correct Answer: C 

 

QUESTION 13

Before an invoice can be created, an account is required. Before an account can be set up, an account user is required
(in order to set up the account). The software is delivered with a master user only, who can only create other types of
users. The following test cases have been written to test the high- level structure of the software 

1.

CTFL_SYLL2018 PDF Dumps | CTFL_SYLL2018 Study Guide | CTFL_SYLL2018 Braindumps                               5 / 7

https://www.pass2lead.com/ctfl_syll2018.html
https://www.pass2lead.com/ctfl_syll2018.html
https://www.pass2lead.com/ctfl_syll2018.html


https://www.pass2lead.com/ctfl_syll2018.html
2023 Latest pass2lead CTFL_SYLL2018 PDF and VCE dumps Download

 Create an invoice 

2.

 Amend an invoice 

3.

 Process an invoice (send to customer) 

4.

 Delete an invoice 

5.

 Create an account 

6.

 Create an account user 

7.

 Amend an account user 

8.

 Delete an account user 

9.

 Amend an account 10.Delete an account Which of the following test procedures would enable all tests to be run? [K3] 

A. f, g, a, c, b, d, e, i, j, h 

B. e, i, a, c, b, d, f, g, h, j 

C. e, i, f, g, a, c, b, d, h, j 

D. f, g, e, i, a, b, c, d, j, h 

Correct Answer: D 

 

QUESTION 14

Which of the following statements about use-case testing are most accurate? (i) In a use-case diagram an actor
represents a type of user. (ii) Use-cases are the most common test basis for unit testing. 

(iii) A use-case describes interactions between actors. 

(iv)

 An actor is always a human user that interacts with the system. 
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(v)

 Test cases can be based on use-case scenarios. 

(vi)

 Use-case testing will often identify gaps not found by testing individual components. 

A. 

ii, iii, iv, v 

B. 

i, iii, v, vi 

C. 

i, ii, iv, v 

D. 

iii, iv, v, vi 

Correct Answer: B 

 

QUESTION 15

A client-server system for a web development must support a minimum of 200 enquiries per hour. In peak times, it must
be available 24 hours x 7 days due to the critical nature of the application, and must have a response time lower than 20
seconds during peak loads. Which of the following set of test types would be most appropriate to verify the non-
functional requirements expressed in this statement? 

A. Performance, Usability, Regression. 

B. System, Load, Fail-over. 

C. Performance, Load, Stress. 

D. Load, Volume and Component. 

Correct Answer: C 
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